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Answer - (60) Agriculture and Rural Development -
Co-operative sector

1)  Consider the following two statements :
a) In India per capita availability of agricultural land has declined from 0.48 hectare in 1951 to
0.16 hectare in 1991 and is projected to slide down to 0.08 hectare in 2035
b) The decline in the extent of agricyultural land is mainly due to increase in population and
diversion of agricultural land for non-agricultural purpose.
Now state whether.
1) (b) is a correct (a) is not
2) (a) 1s a correct (b) i1s not
3) Both are correct and (b) is a correct reasoning of (a)
4) Both are correct but (b) is not the reasoning for (a)
1-1 2-1 3-1 4-3 5-2 6-3 7-1 8-1 9-1 10-3
11-1 12-1 13-2 14-3 15-3 16-3 17-4 18-1 19-1 20-2
21-2 22-1 23-3 24-2 25-1 26-4 27-3 28-2 29-3 30-4
31-4 32-1 33-3 34-3 35-4 36-2 37-4 38-4 39-4 40-3
41-3 42-1 43-4 44-3 45-1 46-1 47-1 48-4 49-3 50-2
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